
D 701  Abri Fumeurs Réf.529370 - Version 07 - Date : 30 06 2015 - Page 1/4     N° NOT129

Poteaux 80 x 80, bardage de fond, deux bardages latéraux et un retour avant

Abri Fumeurs - 2520 x 1560 - Réf. 529370

N° OF :
………………………………………. ?

FRANCE: +33.(0)2.54.80.32.99
   EXPORT: +33.(0)1.39.08.26.55 

1 1)  N° NOT129
2)  N°NOT618
3)  N° NOT461
4)  N°NOT465
5)  N° NOT468
6)  N°NOT474

notic
e 

  N
°

1

2
3

4
5

982



K (x 4)
TPS 529040

J (x 2)
SFI 529308.10

L (x 18) 

ACC 16127

N (x  3)
ACC 01015 

L1 (x1)L2 (x2)

L3 (x1)

L4 (x2) FHC M6x16

L5 (x2) L6 (x1)

B (x 3)
SFI 529309.13

C (x 1)
SFI 529309.12

M8

M8 M8

M8

M8

M8

D 701  Abri Fumeurs Réf.529370 - Version 07 - Date : 30 06  2015 - Page 2/4     N° NOT129

Ø 20

x2

x2

1234567

Procity = (x0)

x2

E (x 2)
SFI 529300.14 



M (x 2)
2500
529300.G

Y (x 2)
2500
529040.01

F1 (x 3)
 ATE 529300.E

F2 (x 3)
 ATE 529300.D

H (x 2) 
60x40x1600
ATE 529300.F

I (x 2) 

1730 x 1245
VIT 81024

P (x 3)
1860 x 1355
VIT 81125.02

O (x 2) 

1860 x 1154
VIT 81123.02

Y1 (x 4)
ATE 529210

D 701  Abri Fumeurs Réf.529370 - Version 07 - Date : 30 06 2015 - Page 3/4     N° NOT129

    (x 1) 
SFI 529301.B N° NOT474



G (x 12) 
CHC M8 x 50  
ACC 22052

S (x 22) 
BHC M8 x 20
ACC 22226

U (x 16) 
 M 8 - ACC 18145

V (x 4) 
H M8 - ACC 05012

T (x 4) 
M8 x 55 - ACC 22325

W (x 20) 
LL 12 - ACC 18130

W1 (x 20)
 M 12 
ACC 03322

X (x 8) 
H M10 x 90
ACC 02174

X1 (x 12) 
M 10
ACC 18143

X2 (x 4) 
H M10
ACC 05013

Y2 (x 8)
3,5 x 19
ACC 22055

V2 (x 8) 
HFr M8 
ACC 04981

M8 M12

M10

14
80

1220
2440

G

F

E

B C

F

=

B B

40
0

40
0

40
0

400400

1

G

35
0

35
0

350

E

35
0

400x400

350x350

D 701  Abri Fumeurs Réf.529370 - Version 07 - Date : 30 06 2015 - Page 4/4     N° NOT129




